Years Offset:

 

Rotational strip cropping involves a rotation of crops with dense vegetation such as hay in strips alternated with strips of crops that are erodible such as clean tilled row crops.  Rotational strip cropping is effective as a conservation practice by alternating strips of the dense crops with the erodible strips.  The strips of dense vegetation cause deposition and spread runoff to reduce rill erosion.

 

Rotational strip cropping involves rotating the crops in the rotational sequence among all of the strips on the slopes length so that at some point in the cycle, all crops in the rotation have been on each strip. 

 

The alternating strips of dense vegetation is represented in RUSLE2 by offsetting the timing of the rotation among the strips.  The years of offset for each strip are entered in RUSLE2 to create the desired alternating strip arrangement.  The following tables illustrate various patterns obtained by selecting different years of offset.

 

A five year rotation of corn1, corn2, hay1, hay2, hay3 on four strips is used to illustrate how to select years of offset to alternate strips.  Notice that the number of strips need not match the number of years in the rotation.  The numerals refer to the year that the crop has been continuous before the next crop is planted.

 

	Table 1
	 
	Year of rotation

	Yrs offset
	Strip
	1
	2
	3
	4
	5

	0
	1 (upslope)
	Corn1
	Corn2
	Hay1
	Hay2
	Hay3

	0
	2
	Corn1
	Corn2
	Hay1
	Hay2
	Hay3

	0
	3
	Corn1
	Corn2
	Hay1
	Hay2
	Hay3

	0
	4 (downslope)
	Corn1
	Corn2
	Hay1
	Hay2
	Hay3


The first table where the years of offset for each strip is zero is not rotational strip cropping because the same conditions exist on each strip at all times.  The alternating of erodible strips with dense vegetation induces deposition is required for rotational strip cropping to be effective.

 

	Table 2
	 
	Year of rotation

	Yrs offset
	Strip
	1
	2
	3
	4
	5

	0
	1 (upslope)
	Corn1
	Corn2
	Hay1
	Hay2
	Hay3

	2
	2
	Hay2
	Hay3
	Corn1
	Corn2
	Hay1

	0
	3
	Corn1
	Corn2
	Hay1
	Hay2
	Hay3

	2
	4 (downslope)
	Hay2
	Hay3
	Corn1
	Corn2
	Hay1


Table 2 uses the years of offset of 0-2-0-2.  Deposition occurs in the hay in strips 2 and 4 the first two years of the rotation and in the hay in strip 3 in years 3 and 4 of the rotation.  No deposition occurs in year 5.  Sediment yield is somewhat in years 3 and 4 than in other years because the erodible corn strips are 

	Table 3
	 
	Year of rotation

	Yrs offset
	Strip
	1
	2
	3
	4
	5

	0
	1 (upslope)
	Corn1
	Corn2
	Hay1
	Hay2
	Hay3

	1
	2
	Hay3
	Corn1
	Corn2
	Hay1
	Hay2

	2
	3
	Hay2
	Hay3
	Corn1
	Corn2
	Hay1

	3
	4 (downslope)
	Corn2
	Hay1
	Hay2
	Hay3
	Corn1


at the ends of the slope where no dense vegetation exists to deposit sediment.

 

Table 3 has the years of offset of 0-1-2-3.  This system is slightly less effective than the 0-2-0-2 system.  Deposition occurs each year in this 0-1-2-3 system whereas it only occurs four years out five in the 0-2-0-2 system.  However, the advantage with the 0-2-0-2 system is that deposition occurs in two strips in two out of five years, whereas deposition never occurs in two strips in the 0-1-2-3 system.

 

	Table 3
	 
	Year of rotation

	Yrs offset
	Strip
	1
	2
	3
	4
	5

	0
	1 (upslope)
	Corn1
	Corn2
	Hay1
	Hay2
	Hay3

	1
	2
	Hay3
	Corn1
	Corn2
	Hay1
	Hay2

	2
	3
	Hay2
	Hay3
	Corn1
	Corn2
	Hay1

	3
	4 (downslope)
	Hay1
	Hay2
	Hay3
	Corn1
	Corn2


 

